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O=S&E S0ty A SHERE 0 0 475 AA4T75
206 = Hl 0 6,200 A 6,200
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= 1,063,140 1,056,440 6,700
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= 6,700 0 6,700
Al 6,700 0 6,700
101 @124l 9,880 0 9,880
= 4,940 0 4,940
Al 4,940 0 4,940
04 JI2ZtHZ22EE = 9,880 0 9,880
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=2 13 0 13
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=2 201 0 201
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=2 1,760 0 1,760
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01 At 22/ 3,520 0 3,520
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HUH SsXIEMHA = 13,400 0 13,400
= 6,700 0 6,700
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101 @14 Hl 9,880 0 9,880
= 4,940 0 4,940
Al 4,940 0 4,940
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Al 2,073,438 2,150,393 A76,955
ENESEY 2,380,838 2,451,093 A70,255
= 284,900 278,200 6,700
< 22,500 22,500 0
Al 2,073,438 2,150,393 £76,955
SASY X ME 309,003 333,003 £24,000
201 et A H| 111,415 131,415 £20,000
03 & At2 2 bl 5,000 25,000 £20,000
OZAl=e BOta HE  5,000,0008 * 13] 5,000 25,000 20,000
301 YUB A 12,000 16,000 £4,000
09 #AMAIHIXI 2 12,000 16,000 24,000
OZAsY BItal AT SARY 0 0 4,000 £4,000
LHI RS X 188,260 209,210 £20,950
201 L2yl 33,250 42,200 £8,950
01 AL 22l 33,250 34,200 2950
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0! 0 950 £950
03 & At2 2 bl 0 8,000 £8,000
OHFA TASY AN HE 0 0 8,000 8,000
301 YPBHI 56,000 68,000 A12,000
09 & AHAIHIXI 3 56,000 68,000 A12,000
OHFA TASY BAUE W24 0 0 12,000 A12,000
solffs 29 74,992 85,392 £10,400
201 Lyt HH| 41,986 46,986 A5,000
03 BAL2 b 0 5,000 5,000
CE-RIVERE-2= Pk 02 0 5,000 A5,000
301 YU B A 0 5,400 A5,400
ENTEEE] 0 5,400 5,400
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= 4,940 0 4,940
Al 4,940 0 4,940
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OB FSXAHH 2= JAH22X 9,880 0 9,880
CLETISED 8,934,000 8,934 0 8,934
= 4,467 0 4,467
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2 144 0 144
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